### Transfers Report

This report contains the transfers results.

Contest Name

Valid Votes

Positions to be Filled

Quota

Ward 6 - Inverkeithing & Dalgety Bay

7,763

4

1,553

#### Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
David John BARRATT	Scottish National Party (SNP)	1,165
Helen CANNON-TODD	Independent	564
Dave DEMPSEY	Scottish Conservative and Unionist	2,841
David John HANSEN	Scottish Green Party	271
Callum HAWTHORNE	Scottish Liberal Democrats	388
Lesley LAIRD	Scottish Labour Party	1,305
Alice MCGARRY	Scottish National Party (SNP)	1,229
	Total	7,763

Candidate Dave DEMPSEY Elected with 2,841 votes, being in excess of the quota of 1,553

# Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Dave DEMPSEY

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David John BARRATT	44	0.45336	19.94784
Transfer to Helen CANNON-TODD	680	0.45336	308.28480
Transfer to Dave DEMPSEY	0	0.00000	0.00000
Transfer to David John HANSEN	88	0.45336	39.89568
Transfer to Callum HAWTHORNE	577	0.45336	261.58872
Transfer to Lesley LAIRD	695	0.45336	315.08520
Transfer to Alice MCGARRY	51	0.45336	23.12136
Value of non-transferable ballot papers			320.07640
	Total		1,288.00000

# Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Lesley LAIRD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David John BARRATT	10	0.01877	0.18770
Transfer to David John BARRATT	54	0.04140	2.23560
Transfer to Helen CANNON-TODD	233	0.04140	9.64620
Transfer to Helen CANNON-TODD	128	0.01877	2.40256
Transfer to Dave DEMPSEY	0	0.00000	0.00000
Transfer to David John HANSEN	34	0.01877	0.63818
Transfer to David John HANSEN	140	0.04140	5.79600
Transfer to Callum HAWTHORNE	428	0.04140	17.71920
Transfer to Callum HAWTHORNE	299	0.01877	5.61223
Transfer to Lesley LAIRD	0	0.00000	0.00000
Transfer to Alice MCGARRY	26	0.01877	0.48802
Transfer to Alice MCGARRY	137	0.04140	5.67180
Value of non-transferable ballot papers			16.68771
	Total		67.08520

# Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of David John HANSEN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David John BARRATT	10	0.04140	0.41400
Transfer to David John BARRATT	54	1.00000	54.00000
Transfer to Helen CANNON-TODD	48	1.00000	48.00000
Transfer to Helen CANNON-TODD	30	0.04140	1.24200
Transfer to Helen CANNON-TODD	10	0.01877	0.18770
Transfer to Helen CANNON-TODD	20	0.45336	9.06720
Transfer to Dave DEMPSEY	0	0.00000	0.00000
Transfer to Callum HAWTHORNE	55	1.00000	55.00000
Transfer to Callum HAWTHORNE	36	0.45336	16.32096
Transfer to Callum HAWTHORNE	3	0.01877	0.05631
Transfer to Callum HAWTHORNE	41	0.04140	1.69740
Transfer to Lesley LAIRD	0	0.00000	0.00000
Transfer to Alice MCGARRY	73	1.00000	73.00000
Transfer to Alice MCGARRY	15	0.04140	0.62100
Transfer to Alice MCGARRY	1	0.01877	0.01877
Transfer to Alice MCGARRY	4	0.45336	1.81344
Value of non-transferable ballot papers			55.89108
	Total		317.32986

# Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Callum HAWTHORNE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David John BARRATT	4	0.01877	0.07508
Transfer to David John BARRATT	15	0.04140	0.62100
Transfer to David John BARRATT	6	0.45336	2.72016
Transfer to David John BARRATT	35	1.00000	35.00000
Transfer to Helen CANNON-TODD	194	1.00000	194.00000
Transfer to Helen CANNON-TODD	255	0.45336	115.60680
Transfer to Helen CANNON-TODD	181	0.04140	7.49340
Transfer to Helen CANNON-TODD	119	0.01877	2.23363
Transfer to Dave DEMPSEY	0	0.00000	0.00000
Transfer to David John HANSEN	0	0.00000	0.00000
Transfer to Lesley LAIRD	0	0.00000	0.00000
Transfer to Alice MCGARRY	11	0.01877	0.20647
Transfer to Alice MCGARRY	30	0.04140	1.24200
Transfer to Alice MCGARRY	16	0.45336	7.25376
Transfer to Alice MCGARRY	53	1.00000	53.00000
Value of non-transferable ballot papers			326.54252
	Total		745.99482

# Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Helen CANNON-TODD

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to David John BARRATT	32	0.01877	0.60064
Transfer to David John BARRATT	67	0.04140	2.77380
Transfer to David John BARRATT	91	0.45336	41.25576
Transfer to David John BARRATT	158	1.00000	158.00000
Transfer to Dave DEMPSEY	0	0.00000	0.00000
Transfer to David John HANSEN	0	0.00000	0.00000
Transfer to Callum HAWTHORNE	0	0.00000	0.00000
Transfer to Lesley LAIRD	0	0.00000	0.00000
Transfer to Alice MCGARRY	144	1.00000	144.00000
Transfer to Alice MCGARRY	94	0.45336	42.61584
Transfer to Alice MCGARRY	55	0.04140	2.27700
Transfer to Alice MCGARRY	37	0.01877	0.69449
Value of non-transferable ballot papers			869.94676
	Total		1,262.16429